Al K1

e

FRTERUKREE—B

TR—KITE

o LEEE | - "
I%E%:I:%%"? T $ % ?;ﬁﬁﬂ) E% ﬁ A vu‘%éF'E
EEE L6095 |HIBNATHIEERUB IS 22,042,800 F R 2K (#5) 82
ETEI$405018 |BAARBKBHREE(30—-1)ITE 86,875,200 (¥k)F A HH 84
EEMIFE 1478 | ABNERYTSOURERISE 66,249,360 % R 2 5% (¥k) 82
EEEBIE705 %;iﬁzggffgé$¥ e RS 48,996,360|(¥5) &Il 85
BEEBIF225 ggiﬁ%g AREXMEER mEtY 47,723,040 |(¥k)/NEFEEER 83
BE—AISE

5 = LHERE | = m
I#Eqﬁ%l%‘%"? I $ % ?;ﬂi&ﬁ) a8 ﬁ A %Lén
EREIFE1215 |BATERENEEISERSEITE 77,750,280|(¥R)FHF TP 83
Y- -avH)—+IE

s = LHERE | = "
I%ﬁ%l$‘%? I $ % gﬂﬁﬁ) aB ﬁ A \n..én:l:a
EESEIF6395 |HEE R AERAZEAKEEIBIE 38,301,120|(#k) A48 82
METE
I%E%I$§"F I $ % (*ﬁﬁ}}) a8 ﬁ A ﬁ‘rn\ﬁn:l:u'l—\r'\
ETEI$10309% |FHBEKERRHELEEIH(B0—06)TE 14,141,520(() = A48 82

sirmmqm  |[HAEERBEREXRMTEEE TEKXF EEtEITE
RESIETS |DaphHtTs +815.720) i) 5
B TEeS E;fi?’;ﬁﬁ$éz”é$¥ QbR 3,683,880|E R T (#%) 82
EaTH10% [TRILEREORMNEER TELER| o0 se0/r=hrsin | o2
KEMZTE

= = ;@ﬁ:’gﬁgﬁi == A
I%E%IEE"? I $ % (*‘Hﬁﬁ) aB ﬁ A nn.,én:l:ﬁ
EKII$50058 [({EEHMEREZMEHRR(30—1)ITEHE 14,686,920 | & K2R (*k) 83




